
-10 -5 0 5 100.0000.00
10.0020

.0030.004
0.0050.00

6 Rodelillo

lag k

S k

-10 -5 0 5 100.000
0.002

0.004
0.006

Rodelillo

lag k
S k

lag k

-10 -5 0 5 100.0000.
0020.00

40.006
0.0080.

010 Concepción

S k

lag k -10 -5 0 5 100.0000.0
010.002

0.0030.0
040.005

0.006 Concepción
S k

lag k

-10 -5 0 5 100.0000.0
020.004

0.0060.0
080.010

0.012 Valdivia

S k

lag k -10 -5 0 5 100.0000.0
010.002

0.0030.0
040.005

0.006 Valdivia

lag k

S k
0.007 PuertoMontt

-10 -5 0 5 100.0000.00
10.0020

.0030.004
0.0050.00

6
S k

lag k-10 -5 0 5 100.000
0.004

0.008
0.012

PuertoMontt

S k

lag k
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